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Problema	1.	Dati	i	punti	𝐴 −1; 0 	e	𝐵 3; 1 ,	determinare	i	punti	𝐶)	e	𝐶*	dell’asse	delle	ordinate	che	
formano	con	A	e	B	triangoli	di	area	*)

*
.	Detti	poi	𝐺)	e	𝐺*	i	baricentri	dei	triangoli	𝐴𝐵𝐶)	e	𝐴𝐵𝐶*	ed	M	

e	N	i	punti	medi	dei	segmenti	𝐵𝐶)	e	𝐵𝐶*,	determinare	l’area	del	quadrilatero	𝑀𝑁𝐺*𝐺).	Inoltre,	dato	
il	fascio:	
	

1 − 𝑘 𝑥 + 2 + 𝑘 𝑦 = 9	
	
determinare:	
a) la	retta	del	fascio	parallela	alla	retta	passante	per	i	suddetti	baricentri;	
b) le	rette	del	fascio	che	intersecano	il	segmento	che	unisce	i	baricentri;	
c) i	valori	di	k	per	i	quali	le	rette	del	fascio	hanno	coefficiente	angolare	minore	di	1.	
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Problema	2.	Dato	il	fascio	di	rette	di	equazione:	
	

𝑘 + 2 𝑥 − 2𝑘𝑦 + 3𝑘 − 2 = 0	
	
determinare:	
a) le	generatrici	e	il	centro;	
b) la	retta	s	del	fascio	parallela	alla	retta	di	equazione	𝑟: 𝑥 + 𝑦 + 5 = 0;	
c) detto	A	il	punto	d’incontro	di	s	con	l’asse	delle	ascisse,	gli	altri	vertici	dei	triangoli	di	area	32	dei	

quali	un	vertice	è	A	e	due	lati	opposti	sono	su	r	ed	s	e	verificare	che	sono	quadrati;	
d) le	rette	del	fascio	che	distano	più	di	2	da	A.	
	
	
Problema	3.	Dati	 i	punti	𝐴 −1; 4 	e	𝐵 3; 0 ,	determinare	 il	punto	P	appartenente	alla	 retta	r	di	
equazione	𝑦 = 3𝑥 + 3	ed	equidistante	da	A	e	da	B.	Determinare	i	punti	Q,	appartenenti	alla	retta	s	
di	equazione	𝑥 + 𝑦 − 6 = 0,	tali	che	valga	la	relazione:	
	

17𝑄𝐴* = 9𝑄𝐵*	
	
e	indicare	con	𝑄)	quello	dei	due	avente	ascissa	positiva.	Determinare	l’area	del	trapezio	rettangolo	
𝐴𝑄)𝐵𝑃.	
	


